3) To calculate the quantity of oil needed for a 10:1 compression ratio in this
particular fork leg, first multiply the quantity of fluid the fully-compressed leg
holds by the compression ratio. Next, subtract the quantity of fluid the fully-
extended leg holds and then divide this mumber by the compression ratio number
minus one. The result is the quantity of oil the fork leg needs for a given
compression ratio. In this case, 250cc of fork oil are needed for a 10:1

compression ratio.

275 x 10 = 2750
2750 - 500 = 2250
10-1=28
2250 + 9 = 250cc of oil
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